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No. of Questions : 180
ggdl & HEAT - 180

X
Time : 25 Hours Full Marks : 450

1
w2 woe quil : 450

Note: This paper consists of Objective Type Questions and is divided
into Five Sections (I to V) as under :
mm-ﬁagﬁauﬁﬁmnﬁmwﬁﬁ%mﬁﬁarﬁ{lﬁv]ﬂ
e B, Jn 5 A affe B ¢

(1) Sections I, H, Il and IV are compulsory. In addition, & candidate
is required to answer questions on EITHER English Language
OR Hindi Language (Section V).
vz 1, I, 11 i IV ofrd ¥ | 50% sy onarEl- @ Sfel W
mﬁsﬂﬁw{mv}%nﬁ%maﬁ%

(2) There are in all 180 questions. Attempt as many questions as
you can. Each question carries 3 marks. One mark will be
deducted for each incorrect answer. Zero mark will be awarded
for each unattempted question.

a;alﬂﬂnwhaqﬁaarﬁ%nﬁ%mﬁﬂmaﬂlmm

3mm%|nﬁ$mﬁaﬂ1%ﬁmmaﬁﬁmm1nﬁﬁ
FaiE gv F s g A .

(3) Each question is followed by Four alternative answers (1), (2}, (3)
and (4). Only one of these answers is correct. Sclect the correct
answer and record it against the relevant question by darkening
the circle with Ball Point Pen in the Answer Sheet, as per the
guidelines.
m&mnw%maﬁmmgﬁ;ﬂm%ﬁ (1), (2), (3) T (4)
et o sotar T ) g A o & 9T aR R | wE I9T A
aﬁﬁﬁmmmmﬁm—ﬁﬂaﬂ-ﬁnﬁ%mﬁ
mwﬁﬁ{m}ﬁmmhmmmml

{4} I more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

qﬁmtﬁtﬂi&aﬂqﬁﬁaﬁrnﬁw%mlnﬂﬁj{!ﬁﬁmaﬁ
- T ) ' '

3 BT.O.
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SECTION - I
R S |
(Economics and Money Banking)
(derem wq g Am)

01. 'Economics is the science of scarcity'. Who gave this definition ?

{1} Marshall {2} Raobbins
(3] J.N. Keynes (4} Cannon
‘ﬂésmmm(ﬁnam)mﬁwq%’lqauﬁﬁmﬁmﬁﬁ?
(1) \refe (2) Ofe=m
(3) o U0 = (4) Fee

02. Who is the author of book entitled "Principles of Economies™ ?
(1} Marshall (2) J.B. Say
(3} Adam Smith (4) Pigou:

"Principles of Economics” IHE S AEF F § 7P
(1} =gl (2) Soflo ¥ (3) amEm fagy {4) g

/D;\. Which bank first introduced Mobile ATM in India :

(1) LCIC.L (2} LDB.L
{3 HDFC (4) Axis Bank
maﬁﬁmamﬁﬂﬂnwﬁaﬁa@ﬁuc{qnaﬁrmﬁm
(1) reLe - (2) 1DB.L

{3] HDFC (4) Axis Bank

04. Money Market is regulated hy :

(1) Financial Institution (2) Indian Commercia] Banks
(3) Reserve Bank of India {4) Foreign Banks
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AT A a1 (R # T @ -
(1y Fi dea™ (2) ardEm aias S

(3) Prod J olfte g 4) f2sh =

0S. Who has propounded the concept of "Rent of Ability” :
(1) David Ricardo ; (2} Von Wieser
(3) Mrs. John Rebinson (4) Alfred Marshall
vy B S W SR e g @R
(1) 3z f=Et 2 (2) F= dEAT A
(3) el A ofeEE (4) arEhs wIE A

06. Which of the following is mot correctly matched :
(1} EXIM Bank - Finance for Export and lImport
{2] R.B.I. - Bankers Bank
(3) 1.D.B.l - Industrial Finance
(4) F.C.l - Financial aid to commercial institution

Prafefas & @ @ w6 gafea w8 ®

(1) Prafa o ¥ - oTaw P eg B

(2) Rod 8% ot gfean - It @ T

(3) wrra shefe frere S - ofentT B

(4) mafmamﬁrm~aamﬁ1ﬁrﬁ&naﬁaﬁﬁﬁuﬁwr

9 According to J.B.8Ay, ‘‘Rule of Three’’ applied to :

(1) Progressive Tax < (2) Proportional Tax

3] Regressive Tgx (4) Degressive Tax

o flo ¥ & HIAX “‘Rule of Three” (#F &1 ) Fr Ee B
(1) wfdE T T (2 gl wT I

@) Qfemf W=t (4) Wiy B T
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08. Total utility is ................... when marginal utility is zero.
(1) Minimum (2} Maximum (3) Egqual (4) Zero
aa%ﬁmﬁaqﬁrﬁmwaﬁ%,fﬁ@mﬁlﬁm{ .......... oIl &)

{1) e 2y SAf¥FaH (3 TN (4) 9

09. Which one of the following is the best source of exchange ?

(1) Goods (2} Cheque -
(3} Bill receivable (4) Money

PrTifeT & P-ar A @ qatew g g7

(1) =y (2) =m 3) far Raw (4 L

o P
1;>'Mcnney 1s what money does'. Who gave this definition ?
{1} Fisher {2] Marshall
{3] Hartley Withers {4) Seligman

T AT & ST OgE W B B A qfewrST e & 7
(1) fherT (2) wmfa (3) wrda faed  (4) AfeEde

11. The concept of Monopsony was invented by :

{1] Marshall (2] A.R. Lerner
(3} Chamberlin 4}  Mrs. John Rabinson
THHATT STIAT FRN UHINHTT B HIIROT B SR e Fay 7
(1) =mefer (2) To 3o @+T
{3) o=y (4) Audt I ufereas
12. For listing of securities application is made to.... ..
(1} Stock Exchange (2) Central Government
[3) State Government (4} Company Registrar
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gRrafRrdt & g B e @ e faan o 3
(1) wr FErafor (2) = I
(3) TR HEIL 4) @t g

13. Solution of unemployment problem of India lies in .........c..—...

{1} Government industries (2) Cottage industries
(3) Small industries (4) Large industries
A B AHrd Y TEEr W OGATT e 7 ffea &)
(1) T I (2) HEX I
(3) g IART (4) I I=A
14, "Principle of Maximum Social Advantage’ is concerned with which
area 7
(1) Profit ; (2) Rent
(3) Interest (4) Public Finance
=mmmww'mmama ?
(1) @ | 2) @ a (3 T E (4) TorE ®

@ The firat stock exchange in India was established in ..............

o # quy e Bty & e .. gs
(1) 1857 (2) 1877 (3) 1887 (4) 1948

16. Law of substitution is also known as ...............
(1) Law of Diminishing Utility
(2) Law of Equi-Marginal Utility
(3 Law of Marginal Productivity
| (#) Law of Demand
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(4} HIT @1 Py

17. Which of the following is the contingent function of money ?
(1) Basis of Credit (2) Medium of Exchange
(3) Measure of Value (4) Store of Value
Prafafes & @ Ao ger @ o wd ¥ 7
(1) W & oMY (2) Rffrm o g
(3) o9 T AYSH (4) T FH 999

18. }Price elasticity of giffin goodsis ............... ..

{1) Positive ; (2] Negative

(3) Zero (4} None of these

P ol & R S s @ arg . ot Xt

(1) s (2} MTEH (3 g™ (4) v =&
19, During which time-period all the factors of preduction may be changed ?

(1) Short run (2) Very short run

(3) Long run (4) Very long run

ﬁaﬁw—mmﬁmﬂmﬁ%wwqﬂaﬁaﬁ?&wm

g ?

(1) TR (2) oY Fuww

(3) dre=preT (4) oy ddem



al.

33.

”.
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In which economy decision is taken on the basis of price mechanism ?

{1} Beocialist (2) Capitalist

(3) Mixed economy (4) Gandhian economy
g avderecer 3 How ox ® onure 9T Pl R Sy ¥ 7
(1) weowd (2) e |
(3] frifamy avd=rrear (4) wifdiardt oTdeTeeT
Centra) Bank of Indiais ...................

(1} Stmte Bank of India {(2) Central Bank of India
(3) Restrve Bank of India {4) Panjab National Bank
v T ¥ ... T
mﬂbhmm (2) A= ¥ offw g
(3) witifg fot ¥ (4) dAE AVEA Fb

The impéict of ‘Green Revolution' was feit most in the case of production

11} Rice | (2} Pulses {3) Oil-seeds (4} Wheat

wfrer wil & ATOwieT TSI .. e e e o R A Al
(1) SR (2) wEEA (3) o= @ T

The atandsrd of living in a country is represented by T P
{1) Percapita income (2) Poverty ratic '

{3) Uneniployment (4) National income

9 rt.0.
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24,

25,

The first estimate of nation income in India is made By coiriieennt

(1) V.K.R.V. Rao {2) Dadabhai Naomjil

(3) J.K. Mehta (4} Gorakh Nath Singh

A A U T T AEH A L AR AT T
oY | .

(1] doBodtTodlo TE (2) =ETATE SR

(3) HAodo Hear 4) g g fEs

Who among the following is the Chairman of the Planning Commission ?
{1) President (2} Prime Minister
(3} Union Minister of Planning (4) Union Minister of Finance

P A A deT st B stenw A Z 7

26.

27.

(1) rsgafy (2) SarTHEE .

(3) =T G W (4) HE Ae 54
Swearnajayanti Gram Swarozgar Yozana [SGSY} was first launched in
Indiain .............

A A w@ofera=ht o @R Ao el ad L #
o BT

(1) 1975 (2) 1984 (3) 1997 (4) 1999
Monetary policy refers to thg, policy of ................,

(1) Government ; {2} Commercial E;anks

(3} Central Bank (4) Foreign Bank

10
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[ 1To A | (T CO T — i Afy w g war 7

(1) "E&R (2) FEA AHi

(3) = FH (4) fa2elt e

The general budget is presented to the Parliament on ......

(1) The last day of February (2) 15th March

(3) The last day of March (4) 1st April
gEE # T e T wega R S )
(1) wad & e 3 (2) 1548t ArE
@) W & aAfm RF (4) gser VA

Abid Hussain Committee recommended on ...............

{1) Export policy (2) Small scale Industries
(3) Infrastructure (4) Financial sector reforms
o g8 wff L gy argeier e

(1) Pt Al (2) g 3T

(3) EXEW : (4) fachg &y & gard
Legally SEBI was established in .......cooooeee

s wy % A B/ AT ..ooovnvnnnnnnns 7 gd

(1) 1956 (2) 1992 (31 1996 4] 2004

11 P.T.0.
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BECTION - 11
qeE -1
(Accountancy and Business Organisation)
(Am@ieT o =mEiE @)

31. The system of recording transactions bases on dual aspect concept is

32.

33,

34,

called : ;
(1) Double Account System (2) Single Account System
{3) Double Entry System (4) Single Entry System

MQWWMﬁ*ﬁ%%@ﬁMﬂM
HATAT :

(1) 2T @Er qomet (2) Twel @ goTeh
(3) =B AT qonh (4) s IEr g
How many columns are there in a Journal ? -

(1) Three (2) Four (3) Five (4). Six
AT A Pras e () &9 ¥ ?

(1) o (2) = (3) dfa (4).. B
No Journal entry is made for ............ ..

(1} Brokerage (2} Cash discount

(3) Trade discount (4)" Commission
AurrHEr S ofafke L % R w8 fawm omar 2
(1) et (2) X gz

(3] =mafts LS (4)  =riigTT

Double Entry system's rule 'Debit the receiver and credit the givey' is
applicable to :

(1} Personal Account (2} Real Account
(3} Nominal Account _ (4) Joint Account

12



35.

37.

14U/101/1Mii)

G| ® :

(1) =afFrTa g & Rl (2) =vefas ST & RE
(3) TTHEE @ % (4) gEm @ & A
Bad Debts Account is related to :

(1) Personal Account (2] Real Account

(3) Nominal Account {4) Suspense Account

19 FOT G W W= §

(1) =afEFTF™ | ~ (2) aATEfE @il
(3) AT @ _ (4) J==1 @
Goodwilt is :

(1} Floating Asset (2) Wasting Asset
(3} Fictitious Asset (4) Intangible Asset
e & 2

(1) oreardlt dafdy (2) ey g9y
(3) =EEE HU (4) oy €U

Which equation is not correct out of the following equations ?
(1) Capital = Assets — Liabuuies

(2) Assets = Liabilities + Capital

{3) Liabilities = Assets — Capital -

(4) Assets = Liabiliti¢s — Capital

ﬁﬁmﬂﬁwﬁﬂﬁﬂﬂ-mﬁﬁﬁqﬂﬁ FET & ?
() ot = et - ol (2) weafeEr = aifaer « g

_._"13} e - TRt -G (@) @Rt - afte - o

13 . PRO.
k
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38, Outstanding salaryis ................... for trade.
(1) Income = (2) Expenses (3) Liabilities (4) Assets
A omm U AN R FR g
(1) ™ (2) =M™ (3) =ifaa (4) i
@ Balance of the Cash Book is .....................
iz {1) Debit and credit (2) Debit or credit
(3) Debit (4) Credit
ﬁagaﬁ!mré’m .................. eees. BT B
{1) 9™ oF FHI - (2) A 9r AT
(3) -H (4} STHT

40. Trail Balance jis :

(1} An account * (2) A statement
(3] An information - {4) Summary

S [y 1o - AU 21

{1} T @rn 2) we fagTor
(3) < ga , (4) TH @I

41. Under the straight line method of charging depreciation, the amount
of depreciation ...............

(1) Remains constant every year (2) Decreases eVEery year

(3} Increases every year (4) Is not certain

14
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(1} gREd "= T ¥ (2) ufy ad =Z=dr 3
(3) ufEd =edt 2 (4) I Fifyea Td 2
Expenditure incurreed on extension to an existing property is ireated
HE:. o cinimnnies
{1) Revenue loss - (2} Capital profit
{3] Revenue expenditure (4} Capital expenditure
T e o s e T =g .. g ¥
(1) HAET T (2) YT &TH
(3) AR T (4) GeTrTRT =ad
43, One who draws the billiscalled . .................
(1) Debtor (2) Drawee (3} Payee i4) Drawer
A e frgar B 9@ mRT A B oSS
(1] TR (2) SETYTL /ATETAT
(3] ATTERl (4) TEEH
Registration of Cooperative Becieties is :
(1} Voluntary B {2) Compulsary
{3) Harmful ' (4) Desirable

wewrd afffaar s 9ohgs B
(1) ufeeh 2) @fEd (3 @FeRE (4) dERE

45, If payment is made before average due date, then debtor is allowed :
(1) Discount #, (2) Rebate
(3) Brokerage A {4) Commission

ol
ﬂl? L @ AR © m ”

15 | P.T.0.
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46. Buaincts:pmﬁdea incentive to : _ -
{1) TaxEvasion (2) Aduiternation in products
{3) Efficicncy {(4) Ptice rine
saar o 3w b o :
(1} &we A 3 e 7 T
(3) e (4) P ghE
R b3
47. COmMMmEree .........ocovevnenens
(1) is.a part of business (2) iaa patt of tmde
(3) is a part of industry (4) ima; partof proqnﬂnn
R ;
) e o osn By (2) mtmraﬂh
(3) oy w7 o By (4) wwew &1 i Ky
48, A pmmutnr of business enterprise Joay * be : H
{1) a ptock-exchange (2] a company
(3) afirm (4) an individual
U HEAES IR o YaEs e & dm ¥
(1) T wpo-foafdr (2) O e
@) ws o | (4) B =T
: : e
@ The gmatr.:st handicap of a sole trader is ................. ...
(1) drnal size . (2] limited capital
(3) limited liabilitics (4) umnlimnited hbmﬁﬂ :
Uit SqTard FF GEW wdY oA
(1) BT JHT ; (2) ﬁlﬁm gﬁﬁ

(3) W o 4) it =iy

16



50.

B51.

14U/101/ 19¢i})

Partnership is formed asaresultof ........oovvviiiinnn
{1} License from Government

(2) An agreement among individuals

(3) A Central Legislation

(4) A State Legislation

aErd # w9 L Ve.. B HEEEY BT & |

{1) %R | agaw 2) =fFat & & aaghar
(3) H=E FuE (4) =i R
Registration of partnership firm is .

(1) Essential {2] lllcgal

(3} Voluntary (4) Compulsory

areErd o & GofaT B e gl

(1) AEATIH (2) IC-F

(3) URe® (4) IfEE

52, The liability of sharcholders can be known :

83.

(1} From Auditor's Report

(2} From Firm Prospectus

(3) From Article of Association

(4) From Mcmorandum of Association

_ﬂﬂmﬁﬁt%mﬁaaﬁmmﬁ?:

(1) 3idetor gfedes & (2) w REEivee |

(3) Wy orai-aw H (4) Grar fela &

Equity shareholders are ............ccoivenennen

(1] Owners of the company {2} Debtor of the company
[31 w of the company {4} c:n.dmn of the mmpang

17T P.1.0.
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54,

335,

56.

57,

HAT T & . 2 3

(1) A F @ndr (2) WA B FAER 1
{3) T B AESH (4) TN B ATHK
Which business organization has got its seperate legal eittity ?
{1) Joint venture {2) Sole Trading

(3) Firm ' {4) Joint stock company
¥y sEaies e B aas aire sftawd urer & ?

(1) TgFR Tqeq (2) BT =

(3) wH (4) @y $ Feeh

The minimum number of numbers in a public company must be :
TH HEGE wO A W & g §en ot siger &
aifea ? -

(1y 2 (2) 5 3) 7 {4) 50

Preference shareholders have nnrm}allj,r

(1) Equal voting Rights {2) No voting Rights
(3) Limited voting Rights {4) Full voting Rights
gatfereRTT STl A WERERET

{1] =9 2] % FE w0 A o B

(2) TF 2R T AR T drr ®y

(3) O 7T 33 aAfirere 2T B
(4) got waiiET g # :

The foliowing Accounting standard is applied for providing depreciation :

FH SmAe & [ frer dwien wemg ar e B
(1) AS-3 (2) A5-4  (3) AS-5 (4) AS-6

18
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28, The risk involved in equity share is ...................

59.

(1) Maximum (2) Minimum (3) Normal , (4] None

wyar sigit ¥ flgs i AEr et ¥
(1) ¥HTH  (2) AAH (3) €M (4) H& T
Which ane of the following is not a form of business organization?
(1) Sole proprietorship (2) Partnership
(3) Charitable Trust (4) Joint stock company
Preifes § @ A9 saiE @ed 1 & aET T8 ¥ ?
(1} e =T (2) @y
(3) wutd = (4) T T THSA
[ -
In Indie a Partnership Firm is governed by -
{1) Partnership Act, 1920 (2} Partnership Act, 1956
(3] Partnership Act, 1948 (4) Partnership Act, 1932

Wﬁ.mﬁﬁwmsﬂmﬁﬁwﬁ%ﬁm%:?
(1) wEErd s, 1920 (2) ®WEEE AuFEE, 1956
(3) wmEerd offafram, 1948 (4) e arfafam, 1932

19 P.T.0.
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SECTION - ITI

wUs - I _

(G.K. and Current Affairs)
(= @7 od adwe ged)

61. The name of the Chairman of 13th Finance Commissim;tl, pl’ India is

(1} Dr. C. Rangarajan {2} Dr. Vijay L. Kelkar
(3] Shr K.C. Pant (4) Dr. PV, Rajamannar
AT RS SAET & 1397 Feme W AN L, g
(1) =T Mo T (2) ®To =9 ude %ﬁm
3] M o o g (4] =To o Re TR
62.) Which one of the following is not mentioned in the Constitution of
[ndia ? ) 3
{1) Planning Commission (2) Finance Commission
(3} Inter-State Council {4) Election Commission
Fre & @ f6d wa @ dfae § saa 90 B T d 2
(1) @S HAERT (2) Rar o
(3) STt aftwg (4) gA T . o
63. Wheré the 29th Olympic was held ? |
{1} NewYork (2} Peris (3] London {4} Beijing
Iwirel afefeads w@f ST gotr e ? |
(1) =qa= (2) afwm (3) == (4) =¥
64. Who started the Bhoodan Movement ? :
(1) Jayaprakash Narayan (2) J.B. Kripalani
{3} Acharya Vinoba Bhave (4) Dr. Ram Manchar Lohiya

20
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T ST=re fBhaR g faear ?

1) TSI AT (2) Sto dfo FHIATH

(3) T e wd (4) 3To W A-TET FAifRr
Uranfihm mines in India are located in :

(1] Alwayi (2} Jadhuguda

{3)] Khetri {4) Singhbhum

R § g e st ¥

() eEdh d  (2) wggeT d (3) @A F (9) Feeygit &
66. Kandia-port i; located in which State ?

(1) G-:_}g (2) Kamnataka (3) Orissa {4] -Gujarat

FIUSHT TBCNE e Tog & fege & 7 :
(1} TaEr @ wew (3) g {4}

&7. Which State in India is the smallest in area ?
(1} Goa (2) Sikkim (3) Nagaland (4} Tripura
ASEd | WA FT PH-T 9 G9d srer § 7 :
(1) =& (2) fufFrm  (3) e (4) g
/5: Buddha died during the reign of :
{1] Udayan ' (2) Bimbisar
(3) Ajatshatru (4) Jarasandha
WRIY . B e W

(1} Sma (2) FfEaEr (3}

21
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' 69. Tulsidas was a contemporary of ......ooovivviriiiiises
{1} Babar _ {2) Akbar
(3) Jahangir . [4) Shahjehan
AR & HEHRIT . o |
(1} =T (2) oTFaT (3) “TEMEIT (4) - QTS
@ Number of bones in new born babyis ................ |
e R gma=m ¥ ggfear &l & 7
(1) 208 (2) 206 (3) 200 4) 270
T1. Water freezes at ............. ...... -
{1) 100°C (2} 10°C {3) o°C (4}, 40°C
T e 9T T § |
(1) 100 fEh dfeds (2) 10 faEfy dfeds o
(3) Of3d "= (4) 40 fEah dfedrs’
I
72,) Green vegetables are richin .................
(1) Vitamins (2) Minirals
{3) Carbohydrates (4) Proteins
s gem Hd L Fferh &ar ¥

(1) fErafs 2) @@= 3) FEEEST (4] ST

9 Who s the President of International Olympic Committee ?

(1) Famine Diack (2) Salil Shetty
(3] Jacques Rogge (4) Helen Clark
stedty afrafeos |ffY =1 orege o & 7

(1) &mda srEw (2) = Qg
(3) Stwg@ A (4) BT FAH
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75.

@

77.

14U £101/19{ii)

Ripening harmone is :

(1) Gibberillin (2) Morphactin
(3) Ethylene (4} 1.B.A.

B OFEH o HEEF THEA §

(1} PEffes (2) "R
(3} Felel= _ (4) SABodloTo

What types of device is a cumpﬁtcr printer ? .
(1) Storage {2) Software (3) Input (4) Output

O FFgeI et R Je & I9EeT 8 7
(1) &ty (2) WRIAT (3) FIE (4) ITFEgE

Who was Gold Medal winner of Lawn Tennis single in 16th Asian
Game, 20107 '

(1} Somdeo Burman (2) Sanam Singh

(3] Mahesh Bhupatti (4) Liander Peys

163 ofymmE @, 2010 % A A (wepa) o @l ges e oien 2
(1) &Hea sH (2) w9 fids

(3) weer =afy | (4) @=T @

The first ICC Twenty -20 (T-20) world cup cricket held in ..........
(1) India {2} West Indies

(3} South Africa. (4) Sri Lanka

gqa IN-20 favg e wa wEl gom o1 ?

1y W A (2) & A

(3) =T SEheR 7 (4) fﬁi*ﬂ;ﬁ“{_"-"a

23 P.T.0O.
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In which of the following states was the Panchayati Raj first introduced ?

‘ (1) Gujarat (2) Rajasthan

(3) Bihar (4) -Kerala |
fretforftan & & g vog § 98 oo duRRl T a9 g 7
(1) ToH (2) T=eE (3) e 4} B

Which country has the biggest constitution ?
{1} U.S.A. (2) France (3) Canada [4) India
59 31 % g™ @89 SuT X 7

(1) dgFy U= aARw (2) W4
(3) ST (4) WA

B0. Indian Constitution was amended for the first time in ..........

wod AR Wl W L, ®OE e

(1) 1950 {2) 1951 (3) 1952 . {4) 1953
81. The Tehri Dam is built on which river ? ‘ |

{1} Ganga {2} Yamuna (3} Bhagirathi ({4} Sutlej

et wfg v TR W T B ? | ’

(1) #m {2) T (3) wrhTeR (4} et

India is the largest producer as well as consumer of ................

(1) Pulses {2) Millets  (3) Maize (4} Wheat

o Y HT G99 TS IqTEE TF ITHRRT B |

(1] &7 (2) &R (3) wEHT (4) AL
83. Who is known as a ‘Master Blaster 7

(1) Birendra Sahawag (2} Sunil Gavaskar

{3) M.S. Dhoni (4) Sachin Tendulkar
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14U/ 101/ 19(li)

B (AT SR § S oar & P
(1) #ex TEE (2) gAA MR
(3) THoUHoHR  (4) wftm SvgEeT

HE
How ‘many rings are there in the Olympic flag ?

st w9 F B v () e B 7
(m 3 2 > (3) 6 (4y 7

Which State is the leading producer of Soyabeen in India ?

(1} Punjab _ (2) Madhya Pradesh

(3) Kerala (4) Maharashtra

A # SaEE w gEY 99 Iues WY HE-a ¥ ?

(1} Yo" (2) WA W= (3) FAA (4) HEES

I
Who wrate the book ‘My life’ ?

(1) 2Z.A. Bhutto ' (2) V.P. Singh
(3) Bill Clinton (4) Mark Tully
g wEe gEE e el ?

(1) FSoTo Y - (2) @odio fde
(3) R fRTeq (4) HEH el
'Dada Saheb Falke' award was first given to ?

{1) Devika Rani Roerich (2) Mrinal Sen
(3) Prithvi Raj Kapoor (4) Yash Chopra
‘areT WRY e’ JEEhR wawdA A Rar w7
(1) ¥Wewr T W@ERT (2) g 84
(3) gel A WYL (4} ey WYOHT

28 P.T.0.
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88. The drag "hashish’ is produced from the flowers of the tree of ©

{l) Neem (2) Hemp (3) Rose {4) Tulsi
gdfter zar P 7 & e 9% & o @ Bre & ol §
(1) = (2) gga (3) T (4) e
89, | White coalis ................
{1} Uranium (2) Ice
{3} Hydroelectricity (4) Daimond
L3100 0 | S 2
(1) T (2) =%
(3) FEREEAES (4) @
90. Who built the Khajuraho temples ?
(1) Chandel (2) Chola
(3) Pallavi (4) Rashtrakute
s H AR e geamEr ar ?
(1) =ider (2) =T (3) e (4) TgpE
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93.

14U/ 101/ 19(1)

SECTION - IV
@S - IV
Mathematica
(wrera)

Which one of the following numbers can replace in both the guestion
marks in the given fraction?

& 7 P 3 Prafafga el & § - den T 9T
fRrgt (?) ¥ sE T o weedl & 7

(1) 24 (2) 48 (3) 56 (4) 32

Two amournts have a ratio 9 : 7. If the first onc is worth 27 then otheris

& TRt 9:7® SrE § ¥ A% S ¥ aesh 272 o gEd afw ¥
(1) 21 2 9 3 7 - (4) 63

in how rﬁan}r years the simple interest of any principal at the rate of

2
4% will be — its principal ?

5
{1} 6 Years {2} 8 Years
{3) 9 Years (4) 10 Years

B o # Rl getes H1 ST 4 HiawE # ST m%é’l

AR ?
(1) 63 (2) sad (3) 9, (4) 10a¥

27 ?.T.ﬂ.
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94. In an examination 15% of the students failed while li‘fg students
passed The number of students appearing in the exammaunn 18 :

ia?mq'ﬂmﬁ 15% Br Frgeiiet gu s=f® 1275 &1 Siy) g2 ( gden
¥ gw feaY o afaie gy ‘
{1) 1,000 (2) 2,000 (3) 1,500 (4) ..2,500

ow much water must be added to 30 litres of alcohol to make sohation
of 40% strength ? O

(1) 15 Litres (2} 25Litres (3) 35 Litres (4] 45 Litres

30 #ffzT arwprE ® R g Rrerr S B Ser 40 wivem v
O N ? _ T
(1) 1ssfeT (2) 25dfex  (3) 3s5dEx (4) 4asefex
)
96. | The average age of 30 students of a class is {5 years. Average age
. remains unaltered even if 3 new students are admitted, The total age

of 3 new students is.-

(1) 15 Years (2) 30Years (3) 45Years {4} 60 Years

ftit e & 30 BTt A oy @1 ol 157§ B 3 afv BT & yAW
%mvﬂaﬂﬂammﬁaﬁﬁwﬁ%mﬂaaﬁtaﬁmwm
&

(1) 152 (2) 30ad (3) 4599 (4) 603!?

97 At what rate of simple interest will a sum double itself in 8 years ?

Wwﬁﬁ?ﬂﬂﬁﬁ#mﬁraaﬁfﬂ@ﬁﬁﬁﬁﬂﬁ?
(1) 9% (2) 12% (3) 12.5% (4) 12.25%
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98. Find E‘hF value of 5.6435 x 46.785 + 26.54 to two decimal places.

5.6435 x 46.785 + 26.54 H WIT A YA T qF P |
(1) 9bs (2) 9.38 (3) 8.98 (4) 10.01

99. Express the mutual relation of the following in the form of ratio -,

1 Quintal and 1 gram

Frafofea & aeais a=Fa & oug 3 w9 J aw #t
I fBRjew v 1o
(1} 10G00: 1 _ {2} 1:1
{3) 1000:1 (4) 100000 : 1
g _ :
100. A person buys article of Rs. 16,000 and sells the same for Rs. 25,000
less 20% discount; find his gain per cent.

11

ek afaRT OF FR] W 16,000 TUY 9T @HIHT I/ 25,000 T
20 AFTF 2 9T SO 8, O AR U9 "ond |

(1) 20% 2) 24% (3} 25% 4}y 30°%

101. What should come in place of the question mark { ? } in the following

series 7

FrifRer ajaen & gsgEs (7) @ & 9T @1 @4 wifgw 7
5, 10, 20, 40 ( ?) 160
(1). 80 3% () 100 3) 120 - 18 320

29 P.TXO.
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102.Find the value of : 63.42 = 7.639

63.42 x 7.639 &1 "I I it |

(1} 384.4 (2) 4844 (3] 387.4 iy IS
236.8
F‘ind the:value of>  Jesg6x Jei104
236.8

J539.6x Jo104 1 T S A o

(1) 0.2126 (2) 0.3126 (3) 0.4126 (4) 0.4216

]
@lf all elements except the main diagonal of a square matrix are zero,
such matrix is :

(1] Zero Matrix (2) Triangular Matrix
(3] Diagonal Matrix (4) Transpose Matkix
o et snege & gea fawt 3 sradt & s 9 T et g
g @ 98 S HEET ¢ _

(1) =1 T @ Profa omle
(3) Tt orr=gs ' (4) uftgd svgs

dz
1053.]f z = 2 x? + 3 y¥? then the value of ™ atx=landy=231is:
dz

qE z=2x?+3y?aAl x= 1387 y- 35 3 == w A B
: " .

{1) 4 2) S (3) 2 4) 3

106.Selling Price is equal to :
(1] Purchase Price + Loss % (2} Purchase Price + Loss
(3) Purchase Price + Profit % {4) Purchase Price + Profit
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EE I G

(1) Haged + 3T % - (2) HIY + BIA

(3) AT + AW % (4) TEHTE + W
107.Find the value of 99999 + 99 + G,

99999 = 69 + 9 T/ Hod I L |
(1) 121 (2) 211 (3) 221 (4) 112

What should come in place of question mark ( ? ] in the following
series ?

Pretfafaa Aol & gv gos fg (7 ) $ w9 F= g alde ?
1,,3 9 21 81 (?} 729
(1) 243 (2) 324 (3) 686 (4) 162

109.Find the value of : {81)* + (9)°
(81)* + (9)° &1 oA HA T |
1y 9 (2) 81 (3) 729 (4) 6561

110, What should come in place of question mark { ? ) in the following
proportion ?

Fr=r AT . weeETes FAE ( 7 ) F v 9T = A iy ?
g & F o o iy
(1) 12 (2} 15 (3) 16 - 4) 18
111. Find the vtﬂue of : [5) = (3 +(5)°
6P x @ +(F = A s AR |
(1) 0 - (2) 45 By S0 . THM 55

31 - P.T.O.
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' 1
112.An agent gets 3% general commission and 35% del credere

commission, What is his total remuneration on total sales of ¥ 15,000
if sales of ¥ 10,000 is credit sales ?

wh AT 3% GET T aer Zé%qﬁwﬂu HAE A et & ¢ 15,000

B G ReBE gT aiftefas 0 ¥, aR ¥ 10,00090 Fdr gure fas ¥
(1) 250 {2) 300 (3) 450 (4} 700

113. Find out capital required to earn a monthly interest of € 600 at 6%

p-a. at simple interest ?

5mmmﬁﬁﬂﬁwmmmtﬂ%%ﬁm
it §oft 2t g & 7
(1) 90,000 (2) ¥ 1,00.000

—

{3) %1,20,000 (4) T 1,50,000

114. A broker's incame 7 1,500 remains unchanged, though his brokerage

. I
15 decreased from 3 % to ?E%L Find the percentage increase in broker's

trade.

wﬁaﬁna%%wzé%ﬂﬁ%wﬁmﬁwﬁm

{1,5ooﬁm%im$wﬁé}%MMWﬂ%m
g ).

(1) 20% (2) 22% (3) 25°% [4) 30 %
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118.JAn article was sold at 5% profit. If it is sold at 5% lpss, then we get
? 153ess. Find the cost price of the article.

% awg 5% e 9¢ e of ) A I/ 5% B 9 Fer v wen o
¢t 15 T R | IW wey W WO YO0 WA

(1) 100 2y ¢ 120 (3) T 130 {4} T 150

116. A pen is sold for ¥ 11 and makes the same percentage of profit for
which it was purchased. Find its purchase price. :

oF A7 A ¢ 11 % en wmw & ol I 9T RN @ Wi vy S
¥ P & 3R wa R M W1 TEW WU TR TRT TN
1y T 10 @ T11 (3 T2 w T9

117. Total dumber of elements in a determinant of third order is :
At w0 B urdevs § ww owwEl A dow B ¥ o

(1) 3 2 6 @ 9 (4) 12
AT .
118. 16 men or 28 boys can do a work in 40 days. In how many days will
_ﬂ/ﬁ4mnand14bnyummp}ﬂeﬁwmmrk? '
(1) 10 days (2) 15days (3) 20damys (4) 25 days
16 SAEE! 4T 28 wad PeEr Tw B 40 RAr A qU H@ T W 24
s o 14 wed I B A Red Rt § g B 7
(1} 10 &= 20 15 R= (3 20 B (4) 25 A
tl .
119, Which one of the following numbers is divisible by 11 ? '
Pregfeg @ S-@ dem 119 B @ o R 2
a2 @ s
. 1542523 (4 AP
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120.A person takes a trip which entails travelling 500 Km. by train at 80
Km. per hour, 300 Km. by taxi at 25 Km. per hour and 400 Km. by
aeroplané at 350 Km. per hour. What is the average speed for the
entire journey ? :

{I)] 61.88 Km. per hour - (2) 62.88 Km. per hour
{3) 60,88 Km. per hour (4) 63.88 Km. per hour
W ZRRT 500 FreliieT 2 amr e & 80 Rreinftex wfy der &
wfer &, 300 faaifiee ait gqr=m 2eRft @ 25 PheifieT ofy goT T 400

Rt it are gar orere & 350 Reeinflet ufy gt 2t oy § g
HIr ¥ G0l g B R oud shewm ar wm B 7

(1) 61.88 Rradier ofyy et (2) 62.88 ey afy ger
(3) 60.88 FFEndtes s_ch‘r g2 (4) 63.88 Beaidier gfy et
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BECTION - V
|qvE -V
(English Language)
(ofR=f W)

[For the Candidate opting for English Language]
[orioft wrmr g7 awt RenRfat # RE )

Directions : (Qunestion Nos. 121-124) Select the word nearcsi in
meaning to the given italic word.

121. Complacent

(1) dependent (2) satisfied

(3) arrogant (4) indifferent
122, Exposition .

(1) exposure (2) clarity

{3) obligation ' (4) explanation

123. Beneficent
(1} rude (2] confident
(3) kind {4) thoughtful

124, Corporeal
(1) physical (2) corporate
(3) mental (4) racial .

35 dx.0.
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Directiona : {Question Noe. 125 - 128) In each of the given stntences,
select the word which is opposite in meaning to the underlined word.

125.My brothet is diligent as well as intelligent.

(1) Lazy (2) sharp
{3) cheerful (4) sad

126.The culprit confessed her guilt before the police.
(1} accepted {2) admitted
{3) denied {4) refused

127.The sudden contraction of the bladder surprised all the players.
(1) manufacture (2] expansion
(3} fulfilment (4] repair

128.The judge was vulneable both emotionally and physically.
(1) gullible (2) credulous '

(3) fickle (4) strong

Directions : {Question Nos. 129 - 132) Choose the mrmqt.:]llnpoduon
- to fill in the blanks. ’

129.He was born ......_... poor parents.

(1) with (2) at . (3) of (4] - from
130.You must atone ................ yaur sin.

(1) for (2] from (3) with (4) at
13]. He is conspicuous ................ -absence.

(1} with (2) for (3) to {4) by
t32.Your plan is open .............. objection.

(1) for (2) o (3) from {(4)" by
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Directions : ( Question Nos. 133 - 136) Fill in the blanks with tre
correct form of the verb.

IFBIT oociccnicnvinvns you, I would win the lst prize in singing.
(1) was (2] were
(3) am (4) had been
134.Had she met me earlier, | ................ her the secret of success in life.
{1) would tell (2) will have told
(3) would have told (4) had told
138.1 ............... my work before she comes.
(1} will finish (2) shall finish
{3} would finish : (4) will have finished
136.1' stay here until you .............. A
(1) will'return (2) return
(3) will have returned (4) shall have returned

Directions : ( Question Nos. 137 - 140 § Select the word which has
been wrongly spelt.

137.(1) psychclogy (2) begining
" (3) allotted (4} recommend
138.(1}) dependance (2) attendance
(3) correspondence (4) riddance
139.(1) pneumonia (2} measles
(3) diarrhoea (4) maleria
140.(1} kmight (2) goitze .'
: 13 eliigansia () Mo

-
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Directions : { Question Noa. 14] - 144 ) Seject the parts of speech
uf the underlined words in the given sentences.

141. Either soluticn is true.
(1] noun {2) adverb

(3) adj ective (4) pronoun

142.The player kicked the ball very hard.
(1) transitive verb (2) intransitive verb
(3] auxiliary verb (4) modal verb

143. He will live here till his retirement.
{1] adjective (2) noun
{3) adverb (4) wverb

144.She reached here yesterday,
(1) adverb (2) adjective
{3} noun (4} determiner

Directions : { Question No. 145 and 146 ) Change the gi".ren sentences
into the passive voice. '

145.People grow rice in ponds.
(1) Ponds are grown in rice by people.
(2) Ponds are grown rice in by people.
(3] Rice is grown in ponds.
(4) Rice are grown in ponds.

146. Give me a glass of water.
{11 Wateris giventome in a glass by you,
[2) A glass of water is given to me by you.
(3] Let water is given to me in a glass.

(4} Let a glass of water be given to me.
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Ditections : ( Question No. 147 and 145 ) Mark the correct meaning
of the idioms from the alternatives given below :

1477.To be at ane's wit's end

(1) to be overjoyed

(2) to be envious

(3) to be perplexed

(4) to be in a commanding position

148.To bear the brunt of

(}] to pull somebody's leg

{2) to endure the rﬁain force

{3) to pulverize the enemy

{4) to rescue the worst sufferers

Directions : { Question No. 149 and 150 ) Choose the correct
sentence in each group. - -

L]

149.{1) Do you know to swim ?

(2) Do you know swimming ?
(3] Do you know how to swim ?

(4) Do you know how will you swim

180.{1} He has given his examination.

(2} He has taken his examination.
(3) He has sat at his examination.
{4} He has sat in his examination.

39 P.T.O.
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SEZCTION - V
-s-v
Plinddl Langmage)
(et wratr)
(For the Candidate epting for Hindl Language)
(Al wrr it ot T & fad)

1515 s sy A s & 7

(1) rsgeeT {2) MY
(3) Tl wirsy (4) Ty WY

182, y& o4 = 9ge B ¢

(1) ahedrdrscor (2) v
(3} sy (4) MeprimTe
183, ¥ & o1 oy TR ?
{1y =l (2) IrEM] (3} o= N R L |
184, TH A g & Wh B B 7 |
(1] g=aret (2) afrarh
(3) ST | (4) ST
155. ©dl wi-Redg ¥
(1) T + aeff (2) 98 + amredi
(3) uft + wemreff (4 ofEr + ardf
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156. ‘Wegwl’ % ¥él dfg-faedy ¥
(1) I + &7 (2) 9ty + I
(3) oy + TR @) gl + I=

187, “Ter 5 Rrofamds @ 2 R e awad o ag w5 7
(1} 39 (2) fr (3) 3T (4} 3

158, e gt & ‘omar wemw @ warT AT R 7
(1) ST (2) Ramar (3} aewEr (4) SETET

189, 399 @ &9 == & Iowd v ogdrT I R ?

(1) garT (2) garaaT

(3) Har (4) =
160. ‘gFR—EH" ¥ P gurd B 7

(1) =gz (2) ==&

(3) sstarea (4) FodrATE

161. TOH A 39 a0 9= JEE 7
(1) 9= (2) 9= (3) 9= (4) TE

162, ‘GHU HET I & 7
(1) (2) atTH

i . ) -

‘41 PX.0O.
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163. &% § gfeein s ST 8 7 |
(1) d§E% (2) uram (3) AwEwT (4) wiaaea

164, ‘HfY’ & =N g== ' ¢
(1) =R (2) =pfafsh (3) wHafaE (4) AT

165, ‘Gxpiay’ &1 [@fwor &

(1) depa . (o) TS

(3) wiEHa (4) |iEpiEs
166. T & HT = AT R 7

(1) sy {2) 9g (3) SEH (4) T
167. 1 & =Yg FRF H REa §

(1} &, 9 @ T &3

(3) & R (4) &

168, ‘BT &1 qaigash & ;0
(1) ¥R (2) fawmnT (3) st (4) QU

169, 38 ¥ = ‘AW’ T gaigaeh FEF R ?
(1) = (2) TR (3) =% (4] TR

170. ‘= & ey &
(1) e 2 = (3) g9 (4) &Y
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171. ‘R &1 e B -

(1) & (2) =g (3} e | (4) Haq
172, fAfdea omafy 4 S@w 7 fad o I AW @@ gw FY Far wE 7
(1) wfed= (2) 9

(3) TS (4] TR

173-eﬁmﬂmﬂﬂa1ﬁ$mﬂﬁﬁﬁm%wwmﬁ@rw
F ?
(1) Sr=far (2) W= (3) GEEET (4) T

174. S B B HJHA 7@ 8, 3H TN HEA 7
(1) srqgfea (2) 98y (3) St (4) FatEa

175. ¥ § e d & 7
(1) wHHE= (2) TEEAt - (3) Ewean (4) =T

175.57111%?:]11?4'3#3@%%;
(1) fergfy (2) =g (3) srgTafh (4) oy

177, “qa-ATed fraE @A ¥ ?
(1) e st - 2) g |
(37 AR @ (4) SR agaD

as S X X3
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178. ‘B e’ BrE ﬁl@lﬂﬂi% ?

(1) g&E™ (2) Trmmafey
(3) TR | (4} P 21gT
179, ST & woTd wET R B R B
(1} 9T & NEAHAT (2) amIsEE W RS

(3) T MY N IR (4) T AR

180. =it wfeey 1 Ty FEd wer omar B 7
(1) MY = (2) ierw
(3) dremar we (4) wfererpTer

44
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14,

ety & forg Trfw

mgﬁm#mmﬁwwm—w#ﬁ'ﬁ'w

' Fawr fiefl-wroft wer-cayz 47 @ )
mwmkxnﬁﬂz%mﬁ%@ﬁﬁmﬁuﬁww&ﬁﬁé
mwwtlquﬁaﬁmwﬁwmmﬁﬂWaﬁﬁw
sy % gut gfied a1
e oA W mnhrh-wtaﬁﬁEMmmaﬂiﬁqmmmﬂ
¥ 3 @
m—lﬂm#ﬁithrﬁ#ﬂﬂi’m#ﬂﬁﬂﬁ}mm-w#ﬁﬂm;
&w awv-ow &1 JeaiwT P @
mwﬁmm—mmmﬁmm—wmﬁqﬂﬁﬁﬁﬁmm%@
m—wtmww&?#mmﬁuﬁwmwm@'mﬁﬁiW'ﬁ
w#fr ﬂf—ﬂﬂmﬁmm-gﬁmmmm#zmmaﬁﬁnﬂf
or fora
o Qo WTe TN WY STWEE Fem, wIAYrnE How ¥ gz Wow (% €Y B) T
wyTgfive o Sgmwis Wi Fo THo MTe aN woar w7 wfafi & softeee w1 S
e
Mnﬂﬁﬂ'#’mﬁﬂmﬁm;rmmmﬂwmﬁ#mw = Fpiww
ARy W7 FWT AT A
19~ gl & s 3 & WIT TR 3w e T 1 e e & dedve I b Y
mm-ﬂﬂm#ﬁ_#mﬂﬁ#wwﬁm-ﬂtmwﬂﬁ#ﬁ
foret & argee 07 @ g s b
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